Question Booklet No.

Question Booklet Code SLRC_2 02 2

A Paper : III

Roll No.

Time Allowed : 10:00 a.m. to 12:00 noon (2 Hours) Maximum Marks : 150

Before filling the OMR Answer-Sheet, the candidate must ensure that all the pages from 1-64 are printed
correctly in the Question Booklet. In case of any discrepancy, immediately replace your Question Booklet.

INSTRUCTIONS

Do not open the Question Booklet before 09:55 a.m. in the Examination Hall.

Read the question carefully before marking the right answer in the appropriate circle of
the OMR Answer-Sheet.

No candidate will be allowed to enter or leave the Examinationn Hall during the examination hours.
Any candidate found using unfair means in the examination halls/rooms shall be
disqualified.

Candidate should clearly write his/her Roll No. in the space provided in the Question
Booklet in case of using Non-Standard OMR Answer-Sheet.

Candidates will have to sign twice. Once in the Attendance/Roll Sheet presented by the
Invigilator on duty after taking their seats in the Examination Hall, and the other, at the
time of handing over their Question Booklet and OMR Answer-Sheet to the Invigilator after
the completion of the Examination. Cases where a candidate has not signed while submitting
the OMR Answer sheet and the Question Booklet, he/she shall be treated as absent.
Candidate should do all the necessary Rough Work on the Question Booklet in the space
provided. Rough Work should not be done on the OMR Answer-Sheet or on any other paper.
If any Rough Work is done on the OMR Answer-Sheet, the OMR Answer-Sheet will not be
assessed.

There will be one single OMR Answer-Sheet for all the questions. No extra OMR
Answer-Sheet will be provided for any mistake or correction.

The OMR Answer-Sheet will be provided along with the Question Booklet. Candidate should
fill up the particulars in the OMR Answer-Sheet, 1.e., Question Booklet No., Question
Booklet Code, etc., carefully with blue/black ball-point pen only.

The Examination is of 2 hours duration and will consist of 100 questions of 1.50 mark against
each question.

There is no negative marking for any wrong answer.

Candidate should note that each question is given in multilingual form, viz., in Assamese/
Bengali/Bodo/Hindi/English medium/version for his/her convenience and ready reference.
In case of any discrepancy or confusion in the medium /version, the English version will be
treated as the authentic version.

Very Important :

The candidate should make sure that the corresponding Question Booklet Code is
properly written/shaded in the OMR Answer-Sheet by him/her. For example, if the
candidate gets Question Booklet Code ‘A’, then he/she should fill up ‘A’ in the box
provided in the OMR Answer-Sheet and also shade the circle ‘A’ in the OMR Answer-
Sheet. In case of any discrepancy in the Question Booklet, the candidate should
immediately report the matter to the Invigilator for replacement.

The candidate has to return the Question Booklet along with the OMR Answer-Sheet to
the Invigilator before leaving the Examination Hall failing which he/she will be
considered absent.
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S ~[5q OIFS ! T8 W A%S ?

(A) el (B) TIEER!
(C) TAGIRT (D) IR
& Fefh eIt rolFrs ey ar =i ?

(A) =T B) =

(C) w@s™ D) =W
ATATET T FEeEAEAE Tl FamET 59 TE1 T 7

(A) T (B) TR

(C) HEETH (D) T
HTA T €S | 1 91 T HiSe T2 B 7

(A) e (B) =1

(C) ST+ (D) e
Which colour is not present in the Olympic Flag ?

(A) Red (B) Green
(C) Purple (D) Yellow
T IS TR CROR

(A) 9B (B) WAl
(C) ZreMl (D) fam
T3PS QG %127 25 -

(A) Jeret (B) AR
(C) 2ol (D) fomt

(A) =W (B) feam
(C) =M (D) =T

TE BT T T2 -

(A) SR (B) dfeam
(C) =M (D) o
The Capital City of Peru is

(A) Bogota (B) Santiago
(C) Havana (D) Lima
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T B FATTEH T © IS

(A) ¥H2 (B) Terrel
(C) FRoEEn (D) =g forgil
TIRE I 953 QLG HAES -

(A) Y= (B) TS
(C) =ZRGHM (D) fre o
T e TR SATTEE ?

(A) 7w3 (B) HIeThTam
(C) #euErg (D) TigH feeet
T Rl T S Az |

(A) 7= (B) T
(C) &g (D) 3 feeet
The National Stock Exchange i1s located in

(A) Mumbai (B) Kolkata
(C) Hyderabad (D) New Delhi

451 FATHRT A WEIE] FHTHRE TR TNE FAES e JA2R 2OSTT
THAMEG FHF 4 S «[ [T 41 |

(A) BIOS (B) Hard Disk

(C) CPU (D) USB Flash Drive

Tty SrEire ool (TS (S FTSKTF THMED GFD FATHE (AT Sw) FTHd
T35 ZBITS FI0e JI2F 741 AR ©f Tizs = |

(A) BIOS (B) Hard Disk

(C) CPU (D) USB Flash Drive

TTEAE BAE 58 AH6 T AP (hardware) TH A6 A T4 HIU T AT
AT (file transfer) @1 ?

(A) BIOS (@@M)

(B) Hard Disk (zTefem=h)

(C) CPU (13

(D) USB Flash Drive (Z.79.51. %91 2159)

frtaiad gel 9 39 BTEaat T &1 T8 Hi, (98 U Hrgel 9 gal Hrgel d HIsdl H1
TYHANG i 6 To1d 3T fhar T ahar 2 |

(A) =M@ (BIOS)

(B) ®TEfemh (Hard Disk)

(C) #9139, (CPU)

(D) F.UH. =1 %91 313 (USB Flash Drive)
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4. From the following list identify the hardware component that can be used to
transfer files from one computer to another.

(A) BIOS (B) Hard Disk
(C) CPU (D) USB Flash Drive

~

5. T SRTT PE-IR TSN wree SN 29 wiEe) YEeNT [l 5j2s
TN =D C20R :

(A) FTRICHEN AT (B) o[l S [y “EFexia
(C) I ATeNTet (D) = gl ATeNTE

5. Ted oared F-olR TWYNCE WEee SAre I ES Ao WETSN (AT (P
SRS ST FCACZ, ?

(A) FRATFEAN Tl (B) rev[at @<k 9=y “I<FewrE
(C) warE! wEsE (D) 1 g “HexE

5. 99 BTSLRE IS F1-HTA (99— S 6T @ el TRd Ghe S | STTATe] @ T ?
(A) FHHIA (B) @dIST IAA THeam=d
(C) T (D) TRIAA

5. T2 T S I YRGS YRA-TTT % AGHT 1 gfeqft A o gaehd o T31 & 37T Hidl 2 -
(A) HHEHRA & (B) Fageisinfza s
(C) FTEe & (D) oIS &

5. The range which separates Indo-Gangetic Plains of Northern India from the
Deccan Plateau of Southern India is

(A) Karakoram Range (B) Satpura and Vindhya Range
(C) Aravalli Range (D) Pir Panjal Range
6. frafEioroaipmes @ wha Sesife famra s = 2
(A) P (B) skl
(C) =l (D) =T
6. It SraEre AR Ha Wi (FAhA Serfe faEr orns =i 2
@) (B) o
(C) gl D) =i
6. TTETA F9 CATET (&ATeE BEMTRE dmiaamd ?
(a) fog B) T
(C) =g (D) e
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frefanad Afedl § & w1 faaea 3 78 fawadi 2 7
A) fag (B) T
(C) =g (D) e

Amongst the following rivers, which one does not originate from the

Himalayas ?
(A) Indus (B) Ganga
(C) Yamuna (D) Narmada

e TSRO R G A X

(A) 100°C (B) —40°C
(C) 0°C (D) 4°C
G A €9 = -

(A) 100°C (B) —40°C
(C) 0°C (D) 4°C
FHAT GUTSHTE GaI T H SR UMY 9T 2

(A) 100°C (B) —40°C
(C) 0°C (D) 4°C
AT T G ATTHH 211 2 -

(A) 100°C (B) —40°C
(C) 0°C (D) 4°C
Water has maximum density at

(A) 100°C (B) —40°C
(C) 0°C D) 4°C

NS (e (SR *ere yoifag Seme, faege i Sorelsl o IR SR 51 3% 2

(A) aifersy (B) Wi

(C) <rewiife faem (D) WEoE

TR NS G T T, o6 ©32 IR IR remRe 63 2

(A) dlfersy (B) wedfe

(C) AgEE D) WEoy

T AT SATAHEAT SEF-Clad 4 1 6g4 ™, THFRE™E HAR AEFAEE T HE] 2
(A) HIEAMT (B) T@ET=I

(C) TerET fefram (D) =ATE fafTam
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8. 9% Icured, THaw 3@ H1 HeTFH 4 ATcA1 AHTSF (SFHEA S A2 7

(A) =TT (B) HIIA
(C) Tl fasm (D) ST
8.  Which social science studies the production, distribution and consumption of
wealth ?
(A) Commerce (B) Economics
(C) Political Science (D) Sociology
9. frifete ofesE @ wreiss oia coa »miElf ftare w1
(A) #Zb RN B) SR
(C) STHRN D) TIFCHRN
9. focy Sral<s Sf e (2t e ©td (ouia $+me TfiEs &4 -
(A) BRI (B) @it
(C) sy (D) TEHRN
9. TTEEE EHEHR T FETaT 1 STT0H ¢ 9T s4aeE | o |
GV CERE B)
(C) HATSHIT (D) Hefaaa
9. THeAfaRgd 9=l 3 Il as &1 8§ T T A1t G T8 %1 789 &1 |
(A) A (B) A
(C) =ATfETm (D) FeHm
9. Identify the normally radioactive material in the following list.
(A) Plutonium (B) Germanium
(C) Osmium (D) Cadmium
10. S (oS o] “Hes s 4 A ?
(A) # (B) >
C) = (D) =
10. ST (FI LUSIF WE F© &l (ARG AN 2
(A) T (B) r®
(C) =) D) =
10. STeEd FEEAEE BHE ERTETE T8 o1 917 2
(A) @5 (B) @7
(C) A6 (D) =18
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10.

10.

SicAraTe 8, ufg Fafraafeadise dam 8

(&) = (B)

©) B (D) 3113

In Volleyball, how many players per team are on the court ?
(A) Five (B) Seven

(C) Six (D) Eight

11.

11.

11.

11.

11.

OIS (P34 I NS SN HNT *o{af g 2

12.

12.

12.

(A) (B) #r©

(C) =W D) w=

Sired TG AT SN 0o AN SR 2

@A) = (B) e

(C) =iH D) =i

T AT TSATHAT ST T THAET 2

(A) AH9 (B) AM7

(C) AM8 (D) AF 10

T % e T 3799 & A1 H91 AT 9 8 7

(A) (B) @

(C) #13 D) &

How many states of India shares border with Assam ?

(A) Nine (B) Seven

(C) Eight (D) Ten

1st SRAIET, 2022 ATATE SRS [TeaE! G 2

(A) =EE Fes! (B) THNIZ AGaat
(C) Tz fam =y (D) RE &=
2022 T 1=t FhRIGTS WA faawg | < (e 2

(A) & 1es (B) TmI AGRIE
(C) T fa =y (D) R S
1st [T, 2022 81 AR, IATEMEE T-TET (finance) AT IR 2

(&) Frsmar (B) =% HrEA T
(C) feo=afag wmi (D) g B
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12. el Sad, 2022 %1399 % famq T wE 2 7
(A) 3T AT (B) <gdmEA T
(C) Tewafava smi (D) o BSieEsT
12. Who is the Finance Minister of Assam as on 01t of January, 2022 ?
(A) Ajanta Neog (B) Chandra Mohan Patowary
(C) Himanta Biswa Sarma (D) Piush Hazarika
13. 31t W0, 2022 TS oW T (24 (era1 =iz ?
(A) T (B) “f2fem
(C) Tofam (D) ar@i
13. 2022 > 31 ¥ AN FoGTeT (& {27 ?
(A) e (B) R
(C) TSl (D) e
13. 31st T, 2022 B F HAEEE AH {13 ?
(A) H 34 (B) HM 35
(C) ¥@M33 (D) M 32
13. 319d, 2022 %1 a9 A fa foer 2 7
(A) == (B) T
(C) o= (D) =
13. Ason 31st of March, 2022, how many districts are there in Assam ?
(A) Thirty Four (B) Thirty Five
(C) Thirty Three (D) Thirty Two
14. f7afaf4s ol SRza @R oo SR S i F0F 2
&) TF (B) i
(C) g (D) T
14. o0 Sar® oo™ ST (PR SR 05 SNETE SR 2
&) TF (B) T
(C) NRIFE D) ¢
14. TR 2 FIETH R TS0E 9 F1EU SFATETS {901 THer 2
(A) =H (B) T
(C) AR (D) A
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14. fefaR@d ¥ 9 M 91 ¢ A& % 919 =1 d130 HLal 8 7

(A) = (B) AT

(C) ™MR D) ¥HH
14. Which of the following countries share border with Assam ?

(A) China (B) Nepal

(C) Myanmar (D) Bhutan
15. Fo7afe<e weieomes (@R SbRe YT SdEs ?

(A) TFRRE 1Y (B) *[D 7oK

(C) oM BEEH OTg (D) TR TSR T
15. T Saters oresfam st @F et Yo 2 =i ?

(A) FTFERE OTg (B) *[Exh et

(C) oM BS(rl OTg (D) FERITSHEA 79
15. TITETETE 2FME SATh R TSR T8 TS A SR € 2

(4) TR HY B) =R g

(C) U BTSITEhT 49 (D) HifcAM™ER g
15. fA=raRgd Jeil 3 9, H 91 999 T& =H /2 7

(&)  TETET Fg (B) WS e

(C) I BHTh1 &g (D) A5G
15. Amongst the following bridges, which one is at the Easternmost place ?

(A) Naranarayan Setu (B) Saraighat Bridge

(C) Bhupen Hazarika Setu (D) Koliabhomora Setu
16. FHE S TAPNE (FRE 7] T T WA ES ?

A) fome (B) TIRMEI

(C) FoTmEt (D) =77
16.  To7Cal SeaIl¥re w1 ales oe N3 CRAIG T4 ToTSraRi w2 ?

(A) frze B) R

(C) T D) =
16. TTEMEA 99 CHET 9% EEAE G 2

(A) fewam (B) FHmEm

(C) Wit D) w9
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16. FAEda A AR A TG TSI AR ?

(A) TeFm (B) AW

(C) =W (D) 9g
16. Which of the following river is in the Barak Valley ?

(A) Dikrong (B) Kushiyara

(C) Boginadi (D) Bharalu
17. SRE SIS 955 16 2

(A) 2 (B) WA

(C) et (D) ®izs
17. SPITNE A< oig Bt 2

A) @R (B) i

(C) 1= (D) =
17. FTEMEE BTETETATH THIFT AT ?

&) = (B) A

(C) =1 (D) ®IR=A
17. 3799 %1 USEhE 38 F12 7

(A) Eredm (B)

(C) (D) He
17. What is the State Tree of Assam ?

(A) Hollong (B) Teak

(C) Saal (D) Peepal
18. SPFT (FF I12S (ARG o & iE w71 w4fEs ?

(A) f=pieR B) ToETE

(C) PEITH (D) =
18. TR el @ R W2 X7 PN (el 20 W2 2

(A) r=iisE (B) TEER

(C) TRl (D) ==
18. a1 9eh1 3T 23U 1d A S Afell STTEMA 99 SFTHEE T 2

(A) Tasamm (B) TR

(C) g D) &S
18. 13T AR 3R 23S aM S At A9 F fFa WE T E ¢

(A) Tomam (B) WK

(C) ggAr=ER (D) BT
SLRC-2022/P-TIVA 14 e



18. Poa Mecca and Hoygriv Madhab Temple is at which place of Assam ?
(A) Sibsagar (B) Tezpur
(C) Dumunichowki (D) Hajo
19. TUEEHT SIS TS SIaeel (Foa W :
(A) =2 (B) iR
(C) <t (D) e
19. T35 S ¥S Tl 9Iawel (e w1 297 -
A) w12 (B) =R
(C) =2 (D) Toea2
19. SREEE 9TE 91 7 fSr e weg e g an ¢
(A) s (B) Crhelrs
(C) dmg (D) T
19. SRER Ia 9™ 3999 95T %1 94 5a1sy |
(A) T (B) kel
(C) e (D) ferws
19. Name the tea research institute at Jorhat.
(A) Taral (B) Tocklai
(C) Tamol (D) Tingrai
20. =N SR FAEE T2 :
A) =i=H (B) IR DR
(C) TR (D) ZTETeTSl
20. =¥ SRR FAMTTEa TN 297 :
A) ©Eh (B) IR HAE
(C) el (D) ZE[ETSl
20. Fifstaq st T=TE aEYgAE g an 7
(A) wTEfd (B) THAR HER
(C) =FHrd (D) IZATEA
20. 3TEHATH TEA 20H1 1 98 FATRT |
(A) Wl (B) AR 9K
(C) /=t (D) AT
20. Name the first talkie in Assamese.
(A) Bhaiti (B) Baruar Sansaar
(C) Joymoti (D) Indramalati
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21. =91 “IiD efow w1 Al 7T -

(A) SNIIE HTFFIT WE THI9 TESSI2 (5155
(B) el 2% i3 S SR T™ 39

(C) o51C PR F IGSF

(D) Y[oeE G2 N TEae b

21. =4S ve 2oy A -

(A) SNAIE HTHTFI AT A IFTEIR “II6
(B) oI SPRE 5 Q3 SR TH 37
(C) e PR2 R ATSF
(D) Wreae GIiEsE @3 Teaes wxl
21. S BRI ARTTEEACAE ?
(A) HEE FFEH AR AR ToeaaqqTs Teed

(B) 3T%9 TEF Al AR I =5 59

(C) wTdHe TR THE
(D) HATAATA T8% R FATEH g
21. EE A ] T {REH R HITs o 7
(A) HTHE 3TFEH T TER FoeamuTs 7ed (B)  3FIN 3TEH ! 3R gUTHEE 9
(C) wrdde 3R TH1% (D) AT 8% AR a9 g
21. Swaraj Party was founded by :
(A) Bhimrao Ambedkar and Sardar Vallabhbhai Patel
(B) Aruna Asaf Ali and Subhash Chandra Bose
(C) Bhagat Singh and Rajguru
(D) Motilal Nehru and Chittaranjan Das

22, SFOR MfIMI (PG SEwE W, Fife, 3¢, o wiE ware fefes (@R ev9e
ey SRt 961 2

(B) e 25 (B) W= 13
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22. SIgeR FRIET @ Uaite ™, wife, ¢, fomr e saziE fefers (o Fave facy
<4l 2R ?
(A) 25« 4 (B) 13+ 4=l
(C) 1572 4 (D) 197
22, YWHATHL AETFE- 59 @IYA 9RME, B, TH, ALH AW JTEME ATT F@EE
AAETAAG ] 291 2T 2
(A) @1 25 B) @113
(C) w1 15 D) |1 19
22. WRAHE AT H HE A FT0E 94, Toraw, Fha, foFl 3R T3 ™FH $ 3R T 9™ &1
A 2 7
(A) T 25 (B) #g=82 13
(C) FT=e 15 (D) T2 19
22. Which article of Indian Constitution prohibits discrimination on the grounds
of religion, race, caste, sex and place of birth ?
(A) Article 25 (B) Article 13
(C) Article 15 (D) Article 19
23. WTEM (7@ W IWIEEE (ol 547 (55) SAES :
A) = B) T
(©) =T ®) wi=
23. TRV e /T2 SWIATE (ol 97 (579%) SALS
A) fa=iv@ B) T
(C) 2R@E™ (D) TeHlE
23. HATEHE AT ATar 1 AT WIET, T TR (716 THE) AEC |
(A) HETR (B) feeet
(C) ?etmETg (D) W
23. TEATEE (TTa9), JEHE 37T I8 T AHaL a2 -
(A) ST (B) feeett
(C) #etETe (D) T
23. The Gol Gumbad (Gumbaz), the mausoleum of Muhammad Adil Shah, is

located in :
(A) Bijapur (B) Delhi
(C) Hyderabad (D) Bhopal

=

-2 - TF T.O.
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24, SFOR SN WM TETE W@l Soniae 2iE UDAN © ‘A’ 51 < @t51 {5 2
(A) ¥ (Aam) (B) <¥F (Air)
(C) =S (Aakash) (D) «ferR= (Aviation)
24. TSR WHNEE [E TADE WFUFRE Sl I9%e UDAN *¥ore ‘A’ I% 5
CARIRT ?
(A) Aam (B) Air
(C) Aakash (D) Aviation
24. wraH fafye fyuaa fafafe= gere ‘UDAN gum fammms, ‘A 2 91 g9 ?
(A) o™ (B) ™
(C) HHE D) sTEa
24, YTA % ARG 32T TATeE =1 Teed, ‘UDAN’ § A’ &1 #1379 2 7
(A) Aam (B) Air
(C) Aakash (D) Awviation
24. What does ‘A’ stand for in ‘UDAN’, the imitiative of the Ministry of Civil
Aviation of India ?
(A) Aam (B) Air
(C) Aakash (D) Awiation
25. %10 #1463 IGIq YFTRAT TS TS (21 2ol TOR (@R (G1 5 2
(A) @R B) HTtez
(C) T2e (D) =i
25. T 10 3P (3 5IFE SR NETREIA A0 (T SR 2 ST 22y THTS = ?
(A)  QFEDET B) BHrax
(C) Tzl (D) T=r
25. ¥ 10 R TS AR T8 TH 59 HeH A1 fistes arari s 2
(A) TIEEA (Airtel) (B) i i wE (TCS)
(C) TadT (Wipro) (D) F@m™@a (Reliance)
25. HHEH FHE T 10 AR HUS TR FodTh 1 182 LA FTeA Tact TRAF HIH1 51773 7
(A) T (B) dfiwa
(C) T (D) fremE=

=

) - i
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25. Which company became the first Indian company to hit the ¥ 10 Lakh Crore
market valuations ?

(A) Airtel (B) TCS
(C) Wipro (D) Reliance

26. TSI F AT ZAR AETT AR TS TG I T ?

(A) Fs6E — SfNERY (B) Rl — =W
(C) TN — T (D) sfefz — Efe
26. Tty SrafwesTores (dance form) @ ©IF %o ATEHI TN 32T (F (T wrem 2
(A) Pl — SfEg (B) @i —=om
(C) @if=TRIGY — (D) e — Sfem
26. TTEMEE ™ S8 SCET AHEHEE H1E TR T8 371 WSSt TREemT ?
(A) T — qHA TS (B) =T — =™
(C) wiedisrgd — e (D) e — e
26. faefaiad § 9 %M 91 11, T F11 3R 396 g T3] 6 e 47dq 8 7
(A) F&FH — AT (B) =T — 31aH
(C) wArfeizTgd — (D) ATeH — TSI

26. Which of the following pairs is INCORRECT with reference to the dance
forms and their native states ?

(A) Yakshagana — Tamil Nadu (B) Sattriya — Assam
(C) Mohiniattam — Kerala (D) Odissi — Odisha

27. PN G INCE 7357 (Ramsar site) THAFRD (202 :

(A) 7R e (B) T
(C) ThTglafa= (D) fo=z-ToremE
27. ST Q@ T A5 (Ramsar site) S 24 :
(A) Tt (B) JTHER
(C) ThgfaTa (D) fo=-TweamE
27. TTEEE EHE S931 HTEM T HH8A Ramsar site T |
A) g fae (B) =gel
(C) =g faem (D) feg-d@mn
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27. A9 H UHAH T 9752 ALY 2 -

(A) feIr e (B) FARGEAHT
(C) =gt e (D) feg-d@m
27. The only Ramsar site wetland in Assam is the :
(A) Deepor beel (B) Bordoloni
(C) Chandubi beel (D) Dibru-Saikhowa

28. e wgeIER wNzF @M &0 Wie, @b Apie” HTHT TS YT TR ?

(A) Frg R <R Fee NFAR
(B)  SlfCaeR NFIR

(C) faa o fry Tme wE@eieR
(D) X 5P TR NG
28. RIS NFIERE @G “TAG ACIS @b Auls” AT Mo FRYF X 2

(A) =g e “[am Fonid Tgeer
(B) SR IR
(C) o e frsy Tme wEeIeR
(D) W# 7 TR NEATR
28. TTEMEE BFE §8 1 fAEHa1 “9d1 a 1311, 921 TQI1 Ay Rat gefes eiea 141 2
(A) AEE IR TG 79 T Ta5E (B) TR ST T f9wE
(C) FEH ISR EIfaEE (D) g9 ame ST E faee
28. foAfafEd # 9 &H 91 7T “FE a1, 98 1@ A1 61 T2 9 JS1 78 & 7
(A) WL IR TRER FHeam T e (B) umHi faehTd TETeE
(C) dfeet vd o1 fasp@ =T (D) 9=e FaaA o™ meE

28. Which of the following ministries is NOT associated with the initiative of
“Bet1 Bachao, Beti Padhao” scheme ?
(A) Ministry of Health and Family Welfare
(B) Ministry of Rural Development
(C) Ministry of Women and Child Development

(D) Ministry of Human Resource Development

ENE
- _ ; b
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29. =P T Y2 FER & © S&%S

(A) T=@w= (B) W=D

(C) zarh (D) fe=zsre
29. I TIFeA N2 AHeR A% -

(A) F=ma (B) wEzh

(©) @b (D) fe=ely
29. 3T A gHa FIEFATATET F21 § ?

A) faerET (B) e

(C) TATErd (D) fespre
29. 37TW Ufghdl HicTs &I & —

A) faeaz (B) SIR&ER

(C) AT (D) Tesrg
29. The Assam Medical College is situated in :

(A) Silchar (B) Jorhat

(C) Guwahati (D) Dibrugarh
30. TS TIFRE SIS @Rl N S 6 S 0T Siue ?

A)  Bie=e (B) ~fvzeel

(C) TerEmaRmE=m (D) IEI2! TEA
30. TIES AR TOHTAI R ST (PG 03 RIF ?

(A) BFme (B) ~ifzpzEei

(C) fefebmizmem (D) AEI2l Tae
30. WHA AEERH A, [H9[ 3598, TTEE A TS A6 ¢ ?

(A) FEIHEE B) TEHEFEE =

(C) HAFHAEHIEEAHAE (D) TS ATH IS
30. fmm g9y, YRa TR FHIfFa = F oy g2 7

(A) EpTR (B) H=zdl

(C) Tefseefmm (D) T fE
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30. The mission Indradhanush, an initiative of the Government of India. is
assoclated with :

(A) Immunisation (B) Cleanliness

(C) Daigitalisation (D) Highway development

31. SRS WA SemEn 17 © (523 (9o @7 2/ S| 41 (202 ?

(A) wPTg (B) e =\
(C) =gt D) T
31. SITSR QAT 17 =1 4l (Pina (o1 2 wea 2
(A) WPTY (B) TreTm =¥w
(C) wrpirel D) 1
31. TITEE S| SR TAES WRATH St adq4 @1 17 81 Aws1 g ?
(A) TG (B) w1 89
(C) 7 (D) =t
31. Y9TA % AfagT™ %1 319=ae 17 foas sge a 9sfada 2 7
(A) T (B) ST HIGT
(C) Fr&Igaal (D) Fdt 9T
31. Article 17 of the Constitution of India deals with the abolition of :
(A) Slavery (B) Bonded Labour
(C) Untouchability (D) Sati

32. 1919 Ta® Maf#4e (MK Xoe! af IR Yixib© c2rEi 7z ?
(A) IISFD 3 92 T
(B) WThB TNZTF © 7RFET €T
(C) = fasiem
(D) SIEREAE A5 S Ko

32. Ty Trafe (B KOG 1919 @ 7 Ge R+ 2
(A) FISTG B3T “(
(B) WH® GG M e 23wa
(C) dores
(D) SR SR 7: 4w € oeT1

- =
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32. TTEMEM 59 FTUEATE 1919 ATUTEE TARHN ?
ENERICCACCEREIPEILID (B) I — IR BEESTAE
(C) =TeAT SREEIAAE (D) SrAATETE SF FAREAE
32, frafafea B a®A Haea 1919 AT g2 i 7
(A) Tfore TFe T fepanan (B) W GBS GIT G HI1T3
(C) =T 1 TaTeH (D) SreFET 9F F1
32. Which of the following events did NOT take place in 1919 ?
(A) Rowlatt Act was passed
(B) Montagu — Chelmsford Reforms were announced
(C) Partition of Bengal
(D) Jallianwala Bagh tragedy
33. forafer<re @mG! Sioh oo weag ¢ s a2 wafee Fa@ weed 2019 T4 TEE NEs
Y T4 02(2e ?
(A) = *ifF wieaw (B) o ) s
(C) &1 2 3 = M (D) & Wl S
33. oy Sra<e & “firami &e o ¢ wiasel 9% TalEe T4 e 2019 A AR
0T ST 2R(25 ?
(A) TEHTF e (B) o (9] Sy
(C) & fz @ @ufeas (D) & ACTS Sew
33. TTEME F9 AEYTEET 3 2019 ARYTAA JoAE TEIE “IFET e JYIAE FAW wWiafa
RG] AEAT JHE FeHEE 2
(A) T i A= (B) A faeprar AT
(C) & @993 A9T= (D) A TGS IATIA
33. T F=9FA 3R 9 ITET A qSi o 6 Ty Jarg 2019 A F=Ataigd 3 9 &H df A5 %
EARIERiN
(A) T Wfea 19T (B) = fo 9™
(C) & & 993 A9TH (D) <A FETHT IATTH
33. Which of the following schemes was launched in July 2019 to accelerate
water harvesting and conservation measures ?
(A) Jal Shakti Abhiyan (B) dJal Vikas Abhivan
(C) Jal Hi Dhan Hai Abhiyan (D) Jal Bachao Abhiyvan
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34. RIS (FRGT 2R (15 RN 26T 0TS S0 TR ?

(A) TEREE B) &
(C) =zaIe (D) WiKf<G
34. oIy TrEfere (& 2 #FE CoE 4T 0w F R 2
(A) FERIEH (B) et
(C) =Esle (D) WEfaG!
34. TTEEN 99 ST T2 St eTea g 2
NER-ERIEIC] (B) s
(C) = ETFE (D) #EifEr
34, frefefga i asn o @@ Ty & J aefua 18 2 7
(A) FeEEH (B) ST
(C) TS (D) HfE
34. Which of the following locations is NOT associated with the petroleum sector ?
(A) Duliajan (B) Nazira
(C) Bongaigaon (D) Margherita

35. TR OIS RN #[47 € a1 §9 (GST) TR 41 (227 ?

(A) T (B) T
(C) eI (D) wifas! y&ag
35. T oI &io 70 € (Al T (GST) AEIRE Fearzs ?
A) s (B) =
(C) FFIfT! D) St
35. o9 BEUE FAHE A1 (ST [Ed HR Af4a o (GST) 1793 F1ef ?
(&) s (B) W
(C) AT (D)
35. =% U5 991 % (S TA.21.) FAFL A FTA T8A1 A HH AT YT ?
(A) FEA (B) wE
(C) =ArsT (D) F.Ta.T
35. Which country was first to implement Goods and Services Tax (GST) ?
(A) Germany (B) France
(C) Canada (D) USA

ENE
- _ ; b
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36. 2022 79 SR W12 SRR, IS HAWE 2T W 25! 15720 (202 2

(A) 6= (B) e
(C) ez (D) T@F &
36. 2022 = SERIECS (@ ACST AETISE A6 W 277 ?
(A) Fh= (B) o
(C) drerz (D) T& 2

36. 32022 A JAHEL A TA3TE YA 59 Tgi18] 99 11511 96 313 s3-Rg 3a] 9 aq
a3 ?

(A) FHAEHT (B) HEF Tem

(C) TeIH (D) IATCA
36. Al 2022 T, ST A1 H TG el e T 2 :

(A) AR (B) TET T

(C) TSRg™ (D) ITIC

36. As of January 2022, the state which has the maximum number of seats in the
Rajva Sabha, 1s :
(A) Karnataka (B) Madhya Pradesh
(C) Rajasthan (D) Uttar Pradesh

o

37. TIG 59 ASSFeTS [2o(ae TITs e TN Fiaize ?

(A) TG (B) =He
(©) frpes D) WS
37. T AGA AGTHRCH (2SR S SIS “ifaisy Frareem 2
(A) TR (B) =<
(C) Tpew (D) WEB%
37. A TEF AT AR TS GLT3H 919 TRASTE ™ FAMAH ?
(A) BT (B) 9=
(C) oy (D) FgET
37. Toha T & AT % SF &4 |F 9T 3TET YT ?
INEREECE (B) I
(C) Tasmr= (D) ==
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37. Hiuen Tsang visited India during the reign of the King :
(A) Harshavardhana (B) Ashoka
(C) Vishnugupta (D) Samudragupta

38. fifef«e @ %2 SaoRE weHles WWrEs! (Economic Survey of India) &
0?7
(A) <8R Sme “ffm (National Development Council)
(B) 9% >¢%l (Institute of Finance)
(C) TReR “fag2 ef e (Indian Statistical Institute)
(D) f9e yzerrer (Ministry of Finance)

38. fyey Srafrema ¥u (FRih Shres weftnies s (Economic Survey) &< g ?
(A) TreR T Y (National Development Council)
(B) 9@ % (Institute of Finance)
(C) SiTer “fsigzri =% (Indian Statistical Institute)
(D) 1€ WZ#R (Ministry of Finance)
38. TTEEE 8FME FH31 S0 914 HF AT T 1 TegAr ?
(A) BT ST Tﬁ'ﬂ'ﬂ (National Development Council)
B) TR 3% FEE
(C) e =i s=iere
(D) fafafer 31% w49
38. (a3 1 WA 1 3T T T I1d LT 3 7
(A) T T it (B) fwaamm
(C) Y9RAE ARFSHE T D) fadm=TeEm
38. Who among the following publishes the Economic Survey of India ?

(A) National Development Council (B) Institute of Finance
(C) Indian Statistical Institute (D) Ministry of Finance

39. feyferre (o (@i wefqifow Sesma#lier Jace T2 Wiy € fogze tasieq afow

ACF ?

(A) WErefEe ®) et

(C) F= (D) &S
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39. oy SrEle @ weifere W e verEe e Wahad WiETe @ae g

oI ?
(A) WEeEs B) “fEamt
(C) e (D) T@e

39. TTEEH F9 WY geif TH37E TEET (9™ FE1 Bg! aehsT] aHerrn ?
(A) AATIETE (B) BTl
(C) TTHAR-ARR TG (D) T4 e

39. Tamfaigd 0 4 fora srefoma 0, o1 3eTTes 9999 9N & SEiicd AR 2d 8 7
(A) FETEETE (B) ISt
(C) fafys (D) ==

39. In which of the following economies, all productive resources are owned and
controlled by the government ?

(A) Socialist (B) Capitalist
(C) Mixed (D) Dual
40, forafe=re (FRH! 2T Y2 SRR 1942 TaI9 SRS Sl STHEH S8 Faf%s 2
(A) S «E (B) R BN
(C) =9(% TS R7H (D) @5 s T
40. oy TraEfre (M ZTT 1942 S W2 AR A SIS QT STvieE WIS ZRIEE 2
(A) BEE “F (B) AR GHREEN
(C) 1975 TFIfE S (D) @sife ®wa
40. TTEEE F9 AT T2 TEIHT ‘9RG TR GEEarTE @13 1942 9833 S
ST AA ?
(A) Toramsft ok (B) o9 =fezm
(C) AV FI HGH (D) wid #eH
40. =9 1942 1 TR R 9TRA BIEI ATereH (HEfdiEd 3 9 fhd e s fRaman gt ¢
ENIRECIEIRIED (B) wH wfzaw
(C) &I HgH (D) wifd HeH

40. In which of the following locations was the Quit India Movement launched by
Mahatma Gandhi in the year 1942 ?

(A) Shivaj Park (B) Brabourne Stadium
(C) August Kranti Maidan (D) Pragati Maidan
EME
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41. 7ol SRA[ AL, 40 3F PESF 6018, 4 | SRAMGE “I19F 12 2@ Pizes @is=
i’?i :
(&) 20 B) 24
(C) 28 (D) 32
41. 73206 A FAALL. 40 9T AT, 4, AW A= 2[5 A2 12 R S O Q19 -
(A) 20 (B) 24
(C) 28 (D) 32
41. = FAFATE €.3.91. (LCM) T S 40 HE 5874 2. A4 (H.C.F.) 71 I 4 |
e F FATHAT A TSE YA BRAGAT 12 AT, FAT S FA SH] A G
= ?
(A) 20 (B) 24
(C) 28 (D) 32
41. 2 HEATE] 1 UAHLTA. 40 B AR IR TELHLTE. 4 2 | A S A F T= FHT AT 12
3, A AT HTIN B -
(A) 20 (B) 24
(C) 28 (D) 32
41. The LCM of two numbers is 40 and their HCF is 4. If the difference between
the two numbers is 12, then the sum of the numbers is :
(A) 20 B) 24
(C) 28 (D) 32
42. \/51 4134 +5y42 4 V16 + /9 T3 -
(A) 52 B) 8
(C) 19 D) 9
SPACE FOR ROUGH WORK

=
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\/51+\/134+5\/42+\/E+«/§ e i == -

42,
(A) 52 B) 8
(C) 19 D) 9
42. TTEEE BFME UM 96 feE |
\/51 /134 + 542 + V16 + V9
(A) 52 B) 8
(C) 19 D) 9
42, Afq=atE
\/51 134 + 542 + 16 + V9
FIAAE :
(A) 52 B) 8
(C) 19 D) 9
42. The value of the expression
\/51 134 + 542 + V16 + V9
18 :
(A) 52 (B) 8
(C) 19 D) 9
43. 273 T FECE SO 1 20, 3 7T 2990 FE0E ST 2 21 F 4 (F 276 F0E S
3 2! (72 M1 (2R -
A) 25 B) 41
(C) 13 D) 11
SPACE FOR ROUGH WORK
Ok 10}
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43. b ACF 2 T SISl FACE ST 1, 3 FIAN TI6 FACE ST 2 G2 4 AT S FACE
SreIY 3, 7o -
(A) 25 B) 41
(C) 13 (D) 11
43. AHH FAATARGT 2 S T TG G FHET 1; 3 S T TR e JET 2 371 4 5
TAATATE U@ T AT 3 | & 3 S S
A) 25 (B) 41
(C) 13 (D) 11
43. TH OEA 9 2 YT Bl 8, S ITEA 1 WArE; 3 UM I W2 IMs=ar 2 A4 H
P G R 3N FFaA1 8, T8 & -
(A) 25 (B) 41
(C) 13 D) 11
43. The number when divided by 2, leaves remainder 1; when divided by 3,
leaves remainder 2 and when divided by 4, leaves remainder 3, is :
(A) 25 B) 41
(€ 13 (D) 11
44. TIE] GF SAF 7 3 I “A0E SANG] R (o1 TS Jq “IR | SAHGF F37 J+
i’?i :
A) 3 B) 4
©) 5 D) 6
44. QFG SAEE FACE 3 [N AT FA0E A T SitaE fen e = | wriefhaaa
A 3 B) 4
(C) 5 (D) 6
SPACE FOR ROUGH WORK
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44. HAHE TG RN (fraction) TFSIUMAT (numerator) 3 AT ¥ SRgTE eIT Tara
3/4 SET | ¥ SGTERE el THAUET AT

A 3 (B) 4
€ 5 D) 6
44. TAfFHf=FsmA3 A Ag ez, My T dT-TuE A ag ez | v=Hmame.
A 3 (B) 4
€ 5 D) 6

44. When the numerator of a fraction increases by 3, the fraction increases by its
three-fourth. The numerator of the fraction 1s :

(A) 3 (B) 4
(C) 5 D) 6
1 1 N1 2

45. =, .=, . |= F = IRy =;E
o oo o

(A)

=Tl

1
B —
1 1
) = D) |-
(©) \/; D) 1
2
2 V3 V4 3

(A) \F (B) \F
3 2

1 1

C - D) .=
(C) 3 (D) 1
SPACE FOR ROUGH WORK
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45. \/I \P \P AT \Eﬁmfwﬁwm 2
2 V3 V4 3
2 1
A‘% - B -
(A) \/; (B) 5
1 1
C = D —
(®) \/; (D) 1
45. \/I \P \P e,fﬁ\/E % ¥ I BRI2
2 V3 V4 3
2 1
A‘% - B -
(A) 3 (B) 5
1 1
C — D —
(®) 3 (D) 1
45. The smallest among \/I, \/i, \/I and \/g 1s :
2 V3 V4 3
2 1
A‘% - B -
(A) 3 (B) 5
1 1
C — D —
(®) 3 (D) 1
46. A% x= \/rg , OO0 ad + % ERICRE R
X
1 1
A) 9= B) 2—
(A) 9 (B) 9
1 1
(C) 95 (D) )
SPACE FOR ROUGH WORK
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46. AW x= /3= =@ x4+%ﬂﬁfﬁ?¥:
X
1 1
A) 9— B) 2-—
(A) 5 (B) 5
1 1
(C) 95 (D) 9
_ A 1 T
46. Fex= 3, et + — FAmaIIE
X
1 1
A) 9= B 2—
(A) 5 (B) 5
1 1
(®) 95 (D) 5
46. A x= J§,€‘r.r4+i4wm'—r%:
X
1 1
A) 9— B) 2-—
(A) 9 (B) 9
1 1
(C) 95 (D) 3
46. Ifx= \/5, then the value of x% + L4 1S :
N
1 1
A) 9= B 2=
(A) 5 (B) 5
1 1
(®) 95 (D) 5
47. XY -2 o PV TE qym
'3 4 7° 2z
A 1 (B) 3
) 2 D) 4
SPACE FOR ROUGH WORK
ENE
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47. i LY % e YV E g
3 4 7 2z
A) 1 B) 3
€ 2 D)
47. FeE=Y 2 greem LY 2 fyamanawm
3 4 7 2z
A 1 B) 3
©) 2 (D)
47, A LY 2 HETYTE
4 7 2z
A) 1 ®) 3
(C) 2 D)
47. 1Y - —, then XTY*Z is equal to
3 4 7 2z
@A) 1 B) 3
() 2 (D)
48, N® G5t w2l AW W farameTt a1 Tif bt TN w25 @ierwet 64 | FRATHEHE el
WFTF ALIH] (20T
A) 13 B) 11
(C) 16 D) 9
48. TR ATTF ATS] TN (consecutive alternate) Y¥I[F CI9FT 64, GTHT N4 F TN
R
(A) 13 ®) 11
(C) 16 D) 9
48. A HIN S AR AN STATHTTEET J6E 64 | SR ATerE (et ad s1araq = S=e
A) 13 B) 11
(C) 16 D) 9
SPACE FOR ROUGH WORK
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48. TTFHAFTT UHIR G H1 I 64 2 | 394 9 996 DS 9E&AT 2 -
A) 13 B) 11
(C) 16 D) 9
48. The sum of the four consecutive alternate numbers is 64. The smallest
number amongst them is :
(A) 13 (B) 11
(C) 16 D) 9
49. B! R 2 : 3 AT W WF 2o A.7.2. WFE 9.8, T 7FATA 2z 96 | R
IO (15RFE (R
(A) 8 (B) 12
(C) 20 (D) 36
49. 720 FWRF SO 2 : 3 QR O AALL. GR 9.8, 97 YT T 96, A G20
(RII91=F=T 25 -
(A) 8 (B) 12
(C) 20 (D) 36
49. T FAFETT FFUEA FEA 2 ¢ 3 FW FART 2 HALA (LCM) HAT .39 (HCF) 13
ST A1 96 | 5 A A THIH ST THE | 168 |
(A) 8 (B) 12
(C) 20 (D) 36
49. TIHEAN 2 : 3% HIAG 9 & 371 376 LCM 3R HCF HITHFA 96 2 | T3 613 3 :
(A) 8 (B) 12
(C) 20 (D) 36
49. Two numbers are 1n the ratio of 2 : 3 and the product of their LCM and HCF
1s 96. The sum of the numbers is :
(A) 8 (B) 12
(C) 20 (D) 36
SPACE FOR ROUGH WORK
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50. %A’ I 7EwE ‘B O 25% (A2, (O0% ‘B’ I 7awg ‘A’ T FEANEOL [l *Sie T 2] ?
(A) 20% (B) 25%
(C) 12 Lo, (D) 1629
' L— /0 — 0
2 3
50. A% ‘A’ B’ Ut 25% (T (T I S0q “B-a (o] ‘A’ (2TTF TS *oleH] o049 ?
(A) 20% (B) 25%
(C) 1210, (D) 162 9
] L— /0 — /0
2 3
50. e A 59331 B 13 s9garwgs 25% Fi4aq, 315 B 4 393311 A 19 suafwg3 =9 SErn
T ?
(A) 20% (B) 25%
(C) 12 Lo, (D) 1629
' L— /0 — 0
2 3
50. 3¢ A H13a4 B % Ja4 9 25% 31195 2, a1 B 1 a9 A & a4 & a1 ITa9rd &H & ?
(A) 20% (B) 25%
(C) 1210, (D) 162 9
] L— /0 — /0
2 3
50. If the salary of A 1s 25% more than that of B, how much percentage is the
salary of B lower than that of A ?
(A) 20% (B) 25%
(C) 12 Lo, (D) 1629
' L— /0 — /0
2 3
51. @5 7eTq (PRGN &1 95 98 B Biw fqratal t2fws | 2iters & #1912 A% 7o S A F AR
<2[J1q 7] “Ifaxiee Biewq Stsl #1137, (Sr8 weh e 2! 7 qiE R4l 2T :
(A) 5 B 7
(C) 10 (D) 14
SPACE FOR ROUGH WORK
E%E
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51. 9815 5fFF (toffees) O WaT (=raTs Wi2j (o0 A (8% T&1 | T6F LTSPO (ZCE, Folbd
A =TI 1224 BIRF (toffees) T9F | LIS (RIAAR AR A& 1277 -
(A) 5 B 7
(C) 10 (D) 14
51. AFH AT @ BEAMETHBIAT 98 F (toffees) THATE TEMF | o Sral = 2&TET ATH ST
TAHATE IHE EEERAA A 2 7 A% AREE | GERE YHE SEEhRA
SHACTHAET AT 7
(A) 5 B 7
(C) 10 (D) 14
51. U 997 4 %D Ah! Bl 98 NHAT A TS | THE  Tcdeh 1Sh 1, AASh| 1 T&A1 9 g1
Tt fae! | 9g o oTgeh 1 Fea 4t :
(A) 5 B 7
(C) 10 (D) 14
51. 98 toffees were distributed to some boys in a group. Each boy in the group got
twice as many of the toffees as the number of boys. The number of boys in the
group was :
(A) 5 B 7
(C) 10 (D) 14
52. W cos B = %, (0% sec B T e :
2 2
a“—b b
A — B —
b a
(C) Va®+b? o >
a+b
SPACE FOR ROUGH WORK
EME
SLRC-2022/P-III/A 37 E 3] P.T.O.

g
E -



52. A cos B = %, L4 sec O QI 20T :
2 2
-b b
@ ®B) -
a
(C) +aZ+b? (D) b
a+b
52. Fccos 6= %, AT sec 6 T AHST TEE
2 2
—b b
@ B) -
a
(C) +aZ+b? (D) b
a+b
52. ’-lfﬂcos 6= %, Al sec 6 T HAME BT :
2 2
—b b
@ S (B)
a
(C) +aZ+b? (D) b
a+b
52. Ifcos 6= %, then the value of sec 6 will be :
2 2
—b b
@) ® -
a
(C) Wa®+b? o >
a+b
SPACE FOR ROUGH WORK
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53. @51 e faged AN T2z 6 @ | fagsbR F# 23
(A) w2 (B) /6 w2
(C) 3w.fu2 (D) 3 w2
53. GJb WA [qere3 #4146 C1f: | [aesha veawe 2 -
A) 62 (B) 6 ifx.2
(C) 3.2 (D) /3 wifx.2
53. AFATRE FARETY 377 g3 arfrte fammn 6 9.0, JEea 3 STETuymE geamsegan
2
A) 6 @&fm)? B) V6 @.f1)2
(C) 3 @&f)? D) 3 @fa)?
53. UH T9ATE YT H1TATT 6 F.H1. 2 | BYd &1 &35 2 -
(A) 632 (B) +J6 &2
(C) 3a2 (D) /3 F.Hi.2
53. The perimeter of an equilateral triangle is 6 cm. The area of the triangle is :
(A) 6cm? (B) \/g cm?
(C) 3cm? (D) \/5 cm?
54. +/0.04 ++1.44 +1.69 ++/0.0009 T F =2 :
(A 1.73 (B) 2.03
(C) 2.73 (D) 1.03
54. +/0.04 ++/1.44 +1.69 +/0.0009 «FTM :
(A) 1.73 (B) 2.03
(C) 2.73 (D) 1.03
SPACE FOR ROUGH WORK
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54. +/0.04 ++1.44 ++/1.69 ++/0.0009 T3 am=11 S15=
(A) 1.73 (B) 2.03
(C) 2.73 (D) 1.03
54. +/0.04 ++/1.44 +1.69 ++/0.0009 FTAFZ :
(A) 1.73 (B) 2.03
(C) 2.73 (D) 1.03
54. The value of 40.04 ++/1.44 ++/1.69 ++/0.0009 is :
(A) 1.73 (B) 2.03
(C) 2.73 (D) 1.03
55. TG OF YR 45% I N B0 R G5R 30% T WA | 22 T FOR AT S AT
[
(A) 2:3 B) 3:2
(C) 3:5 D) 2:5
55. QTG YRAE 45% BE GFH WA 30% AT W | 2en weo ek e Aze
el
(A) 2:3 B) 3:2
(C) 3:5 D) 2:5
55. AWH FATANA 45% 3T ATAG AFE FAATGM 30% S FHH TET | WS AW AY
EEIEE ERFOIERIRSIEIP)
(A) 2:3 B) 3:2
(C) 3:5 D) 2:5
55. Ush 9ATH1 45% T ST % 30% 3 99M 2 | T8eil ST 1 ¢l S 1 9 379774 & -
(A) 2:3 B) 3:2
(C) 3:5 D) 2:5
SPACE FOR ROUGH WORK
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55. 45% of a number is same as 30% of another number. The ratio of the first
number to the second number is :
(A) 2:3 (B) 3:2
(C) 3:5 D) 2:5

56. foeE ©izF @fem @F 5 OEWE TN T ACS 2w ©F o= T4 w79 9w
wisftrriecs T 12 % | 3 ©f2 eey fimt T 12 (@ o3 9i9s 69, co0F 30 e orge o
CEQI N T A
(A) 75,420 (B) 75,580
(C) 5,620 (D) 5,780

56. [=1e ©fF o YIoR Q2SI WRY F¢q (¥ efefvm ofF e Alf¥ wifess e e T 12 Bisl
T = | A F @ e 12 5 o TR w3 ea oud ferera b oRe 30 e e
o204
(A) 75,420 (B) 75,580
(C) ¥5,620 (D) 5,780

56. ToISTE TTEMH gRYH 5% (Savings Bank) 37 U AT | 5 SRYHAE fS=1311 FH% a1
A FRTAFE YA Toa1 g3 3 12 T aMad ST 937 | Jie 9313 12 T 99 -/
SRYFAEE | AFTETRA 9 30 H SE-EE Tt = ey a1 5= e Sm =
(A) 5,420 (B) 5,580
(C) ¥5,620 (D) 5,780

56. TS 39 9T 9% 9 39 e 9 TG T HAT ¢ 19 8L I [¢4 3961 5|1 A 39 (1856
fea 1 sm fwr & T 12 339 21| 3 78 7act fea T 12 5w &t 2, a1 e grn 30 fedr &
379 9 ST H17TS A W 2R -
(A) 5,420 (B) 5,580
(C) 75,620 (D) 75,780

SPACE FOR ROUGH WORK
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56. Liza deposits money in her savings bank in such a way that every next day
her deposit amount is ¥ 12 more than her previous day deposit. If she starts
her deposit with ¥ 12 on the first day, the total amount deposited by Liza at
the end of 30 days will be :

(A) 5,420 (B) ¥5,580
(C) 5,620 (D) ¥5,780

57. 2780 (Data Set)
1,2,4,1,5,12,7,8,5,1,16, 17, 12

T feyefy < |
A) 8 B) 7
©) 5 (D) 4
57. o2 Ao waN 1 9 ;
1,241,512, 7,8, 5, 1,16, 17, 12
A) 8 B) 7
(C) 5 D) 4
57. TTEMETE 2P THEFAT TSI E 1 A1 |
1,2.4.1,5,12,7.8.5, 1,16, 17, 12
(A) 8 B) 7
(C) 5 D) 4
57. 192 1 ATETHT G HiraC |
1,2,4,1,5,12,7,8,5,1,16, 17,12
(A) 8 B 7
(C) 5 D) 4
57. Find the median of the data set.
1,2,4,1,5,12,7,8,5,1,16, 17,12
A) 8 B) 7
©) 5 (D) 4
SPACE FOR ROUGH WORK
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58. 1/f2°—1125 —,}Eafﬂﬁfﬁ;mr |
729 144 81
5 7
A‘% —_— B I
(A) 9 (B) 19
20 11
c = D) ———
(C) on (D) 36
58 225 25
" \729 \144 \l
5 7
(A —— B _—
(A) 9 (B) 19
20 11
) — D) ——
© 27 D) 36
225
58. 1/ 1/ ,/ ﬁrm? ?
729 144 &1
5 7
(A —— B) ———
(A) 9 (B) 15
20 11
C) - D) ——
© 27 () 26
58. 1/f2° 1! 1} O 1 e
29 144
5 7
A) —— B -
(A) 9 (B) 19
20 11
Cc) - D) ——
(©) on (D) 36
58. Find the value of 225 .
\ 729 U14 \J
7
A -2 B) —_
(A) 9 (B) 12
20 11
)y — o
© 27 D) 26
SPACE FOR ROUGH WORK
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59.

59.

59.

59.

59.

‘A @ @ P 2R & R 1:00 57 1 W, /T @9 @ S €@ | B &
OF %9 P T #[ G5! e R®fe 1:10 351 2 . /TTae (@57 Ag WEE F0e | A9
B & AT QETS #9 4R, (0% PQIGaRZ o :

(A) 1.5 (B) 1.75f®M.

(C) l.2fsf. D) 1.25fFM.

‘A’ OF A@ P IFEA 2T 903 1:00 XHR 2o Onas 1 Ro[d roor uF 99 |
B faeaa 1:10 xR @52 a2 P 120s @52 e ofs oraty 2 bR woor U@l
wE e | AW B, A’ RS Q S WS B ©@ PQ WY :

(A) 1.5 (B) 1.75f®M.

(C) 1.2fFf. D) 1.25fsf.

‘A’ T P ST 1:00 f1.wd. farmE 1 (9. /5ehe) @RI g@ardl | ‘B A& 3 U@
ST P T 31 w@ e 1:10 fr.ua. formma 2 fo. /4% @ rgtss gaemd | 9 B
ITA’ @I Q 3TE AT AR, PQ T4 STHI 181 Sam

(A) 1.5fwf (B) 1.75f®.fa.

(C) 127k D) 1.25f%.143.

‘A’ 2R 1:00 591 391 FET=E P A 1 A1 /9. FHI77a 9 IE Ll g | B A T 34
W P o 371 3 feom 9 gt 1:10 &9 2 9. /9. H177d 9 = &l 2 | A B, ‘A9 Q
Y R AAd s, A PQHI 2

(A) 1.5 .. (B) 1.75f%. 4.

(C) 1.2 fw.H (D) 1.25f%. .

‘A’ starts his journey at 1:00 p.m. from a location P with a speed of 1 m/sec.

‘B’ starts his journey from the same location P and along the same direction
at 1:10 p.m. with a speed of 2 m/sec. If ‘B’ meets ‘A’ at the location Q, then the
distance PQ is :

(A) 1.5km (B) 1.75 km

(C) 1.2km (D) 1.25km

SLRC-2022/P-ITI/A 44
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60. TIC G AN A L= 40% EP T T F W OF 1w 20% Iam T 2 | Y5 W
i« 202
(A) 20% (B) 40%
(C) 24% (D) 28%
60. QFo T &) 22T 40% TG 29 QT O+ 20% JAI© 41 221 | W N5 15T
209
(A) 20% (B) 40%
(C) 24% (D) 28%
60. TH ST SEEH1 s 40% @HET AW SH™ 20% TLET | S@TEH THH A=A
S S 131 ATATSE T 2
(A) 20% (B) 40%
(C) 24% (D) 28%
60. TH T I hHa 9 T&c 40% H1 FHHI H1 A1 & AR B 20% =1 F5 Hl Sl 2 | FHEa 9
5 TG 2T -
(A) 20% (B) 40%
(C) 24% (D) 28%
60. The price of an article is first decreased by 40% and then increased by 20%.
The net change in the price will be :
(A) 20% (B) 40%
(C) 24% (D) 28%
SPACE FOR ROUGH WORK
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From Q. 61 — Q. 63 : Insert the correct options in the blank space :

61. On the moon, air because the Moon’s gravitational field is too weak

to retain an atmosphere.

(A) thereis no (B) where no
(C) no (D) 1gno
62. in front of a camera lens changes the colour of the light that reaches
the film.
(A) Placed a filter (B) A filter is placed
(C) A filter placed (D) When a filter placed

63. In 1850, Yale University established Sheffield Scientific School,
(A) engineers were educated there (B) where engineers were educated

(C) 1in which, were engineers educated (D) where were engineers educated

From Q. 64 to Q. 67 : Choose the correct pair of words which are SYNONYMS to

each other :

64. (A) Emigrant — Immigrant (B) Piece — Pierce
(C) Frugal — Thrifty (D) Irritate — Instigate
65. (A) Rely — Resist (B) Rule — Rue
(C) Secret — Clandestine (D) Site — Sight
66. (A) Deride — Arrive (B) Derive — Divide
(C) Deride — Mock (D) Mock — Praise
67. (A) Citizen — Foreigner (B) Citizen — Emigrant
(C) Citizen — Subject (D) Citizen — Immigrant

From Q. 68 to Q. 70 : Choose the correct pair of words which are ANTONYMS to

each other :

68. (A) Folly — Stupidity (B) Sweet — Salty
(C) Visible — Unvisible (D) Scatter — Collect
ENE
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69. (A) Advance — Retreat (B) Abandon — Desert

(C) Elevate — Raise (D) Value — Success
70. (A) Acquit — Convict (B) Expect — Hope
(C) Faithful — Loyal (D) End — Finish

From Q. 71 to Q. 76 : Choose the correct options which best explains the meaning
of the given idioms :

71. “To split hairs”
A) To quarrel bitterly

(
(B) To complain about every small detail
(C) To argue about trifles

(

D) To study every detail minutely

72. “Nail the lie to the counter”
(A) To blame a person for something (B) To expose publicly

(C) To investigate an allegation (D) To lie vehemently

73. “To see red”
(A) To be mad with anger (B) To see danger
(C) Sunset (D) To be drunk

74. “To hit below the belt”
(A) To trick the opponent (B) To defeat the opponent
(C) To take bribe (D) To act unfairly in a contest

75. “To beat about the bush”
(A) To prune the bush
(B) To approach a matter directly
(C) To approach a matter in a roundabout manner
(

D) To discuss a matter endlessly

76. “Bird in hand is better than two in the bush”
A) Probability is better than possibility

B) Certainty is better than possibility

C) Possibility is better than probability

D) Probability indicates certainty

- =
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77. Choose the correct order to complete the sentence :
[.  TIsmelled the gas
II. Door of my house then
III. As soon as
IV. 1 opened the front
(A) I II, III, IV (B) ILIIL,IV,I
(C) IILIV,ILI (D) IIL IV, L II

78. The following sentence is divided into four parts. One of the parts has an
error in it. Read the sentence and find the part containing the error :
“The movement which aims at
(D
raising awareness about climate change, hopes

(1)

to bring people together to think about
(IID)

what they can do for reducing harmful pollution.”

(IV)
A 1V (B) III
©) T (D) TI

79. “For the little boy, a lolly was tangible, whereas a promise was not.”
The word tangible in this sentence means
(A) Basic (B) Untouchable
(C) Actual (D) Edible

80. Which among the following options is correct ?

(A) My thoughts are with the families of those who have lost their loved
ones in this unfortunate accident.

(B) My thoughts are with the families of those who has lost their loved ones
in this unfortunate incident.

(C) My thoughts are with the families of those who have lost their loved
ones in this unfortunate events.

(D) My thoughts are with the families of those who have lost their loved

ones 1n this unfortunate incidents.

- =
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81. ZEIE! TR CFRICH! I R AT “aT Qg o ATATS O TreiTaT e % =itg ?
(A D B) W
(©) R D) E
81. W 3Gl (G AN i (AT AW (Tth) W @ TR F (AT @ITASN (16th) HE
otz ?
(A) D B) W
(©) R D) E
81. IS BRE MIEANA 59 BRa 1371 3TFTe w6/ g fufq srmrarem fefasma g 2
(A) D B) W
(©) R D) E
81. 3TISH FUHTA 1 HH 91 H& T  AlcTad HAGLH I F A1ad U R/ T g 7
(A) D B) W
(©) R D) E
81. Which letter of the English Alphabet is the seventh from left of sixteenth
from right ?
(A) D B) W
(©) R D) E
82. TS 1l A5 ITT T (2 A2 WZ | Wew, @20 ST 7 #Aeed NerS HWE | 3
TR QST HTZ | [@IFZS o1 ASTFIE NZ | WER 173 CIRFCE (Pl 202 ?
(A) = (B) *bsT
(C) w&ifze (D) waEe
82. #IUEw (207 JEFIA TBTZ TX 0T (2 | WeR (@28 QR TG W2 IO | el
TR AN, (A 20 ST AN | (F SR 23 TR 070 2
(A) P (B) >0
(C) tafze (D) wEes
82. IS BEEWT AHE SgAd [90=HT eaF | Ufad AT garsdi— Toe 375337 fsmmr |
AT A AT T Uraastn gaarT Fwfar fwan | 93T smefbymE an
e ?
(A) g4 (B) THA
(C) Ufed (D) geitad
SPACE FOR ROUGH WORK
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82.

82.

7 TS U UL H U gaL 1 A1 HLd 50 F3 7 | 354, Ued R rersiid & 814 2 | g,
FATIA % FTS 3R 2, Ued, JA & 918 X8 | 379 316 A HH I3 8 7

(A) g (B) vAHA

(C) ufza (D) erersiid

Five boys are sitting in a circle facing inward. Ajay is between Rohit and

Doljit. Suman is at the left of Shyamal, Rohit is at the left of Suman. Who is
sitting at the immediate right of Ajay ?

(A) Suman (B) Shyamal
(C) Rohit (D) Doljit
83. T AT (TSI AISLF 3 BT TS IF (T R (98I 7@ K[ vifqed | A7 3
29 128 (D€T 7[@F R 15 20 R, (S0F (TST 317 IO R (2T —
(A) 60 9=9 (B) 51 9=
(C) 4849=s (D) 45 <=3
83. AFE (FIF OIF FIF (AT fon] AOTAT TT AR ©IF (ZFF RO TIF @ T | A7 3 907
A O (20 KA 15 I R, OF O I T R F© 2
(A) 60 IR (B) 51 0@
(C) 48 I/ (D) 4530
83. @™ AMre Taf4 fefalgs a@R 3 i AR TaE fFamand §g 4 T4 ¢iaq | 3
TRETSAT SET SER 9T 3@ 15 SMR JEel, 3 qEai (arar4 s@sT ATS@ @ =
EER
(A) 60 AR (B) 51 ¥@H
(C) 48 9MR (D) 45 FMER
83. U HTEH! T T & 3 AT FS1 2 3 AT A FARTAFS1 2 | A¢ 7 3 F9 A1g 15 99
%1 21 AT 2, 1 36k Tl 31 JadE 373 2 -
(A) 603 (B) 51 @
(C) 4874 (D) 4539
83. A man is 3 years older than his wife and four times as old as his son. If the
son becomes 15 years old after 3 years, the present age of his wife 1s :
(A) 60 years (B) 51 years
(C) 48 years (D) 45 years
SPACE FOR ROUGH WORK
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84. IfevEm “Ivo diferm e A<l o ATel [&! & Svte =iz Wi | Aoz
(FT4ITE (1 HSId 21051 OI2F AEBTS “I0Z | FTSI (PR Y4 < wifee 2
(A) s B) “=
(C) T (D) ~f=6x
84. ol QR ST FFEATHN AN QTS ST GFGT 7 Q5@ WPZ | ATSr 72#1 @@
AT BRI HTSE ANHATH T2 | TS (FRCF 32 A M2 ?
(A) s B)
(C) Ted (D) “=6¥
84. N IR AT FEHTE T98R ATRE AR SHAEAT FeME | A5a@T Fiar aEEa!
I SFITA 3T | A 5= (et awg1 =1 gaF 2
(A) @l (B) @™
(C) == (D) IAE
84. aftal 3T Af5a1 gae 1= H U gl & TE 1@ Y | Afgal 4 ¢@1 T aiar = a18 AR/ Ffar
HIBETYT | Faar fond fen =1 377 3@ o7 72
(A) e (B) T
(C) I® (D) Tf=H
84. Sarita and Savita were coming to each other in the garden in the morning.
Savita saw that Sarita’s shadow was at Sarita’s left side. Which direction
was Savita facing to ?
(A) South (B) East
(C) North (D) West
85. WM ad20%INE b=, TSC® 20T b% I NF R T :
(A) aT4% (B) av6%
(C) av8% (D) a=10%
85. M a«d2 20% b = o(F 20 9 b% I A :
(A) a97 4% (B) a9d6%
(C) 297 8% (D) a<9d10%
85. Fcafd20% 3b I3 20 fAb% AT HF9H AWM |
(A) afi4% B) afi6%
(C) afi8% D) af110%
SPACE FOR ROUGH WORK
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85. AcaH20% b &, A120 HF1b% FAH = -
(A) a=hid% (B) a=16%
(C) a=h18% (D) a=h110%
85. If 20% of a 1s b, then b% of 20 1s the same as :
(A) 4% ofa (B) 6% ofa
(C) 8%ofa (D) 10% of a
86. IOz O3 FRIFRT @ 2 5.4, 13 ofc T oF o[ 1z Ciwrs ¥ 8 [, ar |

86.

86.

86.

o1 fes e e 2 R o weselier 4 AL ar | saniEs ol qiewiea X9
1 .13, sfeFy I i fTeq @b S9Es F | Fao[ FRIER FF Q60 NS
TETON SIFH Y (20T

(A) 25fsM. B) 13fsf.

(C) 12fsf. D) 175,

el SR =T @tF @n 2 FEve &5, 8 fifve oim wAfms, sem 2 e
FAF G SAUA 4 fFefNe 7R s AR | S oF AW s (e T 1 e @%
O R (MR | FI0[ [P 43R ©F SFERF 30 AL IARIEGR 579 (aerial
distance) & :

(A) 25 fFefe B) 137w

(C) 12 TFefe D) 17 TFeme

HdE TEH ARG AR gEeny 2 . g | st aEta ety 8 km
(fop.111.) gramAM gAY 2 .M. gEmEEE AR TE ey 4 .M. 9w | SEaEE
T symiaty firfen 1 fo.fa. ymEmAR TEia 77378 9951 | wiaan aEgia T fEH 114
TSE A R (Aerial) AT SIEHE

(A) 25f®.fa (B) 13f®fm

(C) 12f=.fa D) 17f®.fa

Hfadr 374 e 7 2 f6.H1. 13 F1 3R Fadt 2, 5 8 T 4. o8 37w 31 fee 2 fo
T4 T AR 3R T 4 T 1. feqon A1 AR =erdt 8 | 379 9 98 910 gedl 2 3 A 37TeHe
% e % foru 1 fop . Iotdt 2 | Siaar & w@Eied 31 38 319¢ae & o9 Aad 798
et

(A) 25 T (B) 13f®.H.
(C) 12T D) 17 fw.H.
SPACE FOR ROUGH WORK
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86. Kabita walks from her office 2 km to the east, then 8 km towards her right,
then 2 km towards the east and then 4 km towards the south. Finally she
turns left and walks 1 km to reach her apartment. The shortest aerial
distance between Kabita’s office and her apartment is :

(A) 25 km (B) 13 km
(C) 12 km (D) 17 km

87. 35 : 6T I AR FKES eyl I 1 TR A |
(A) 85:9 (B) 64:8
(C) 26:5 (D) 120:11

87. (FF YRITHTIT 35 : 6 9T WS AFeATN LA I7([FS ©f WM T4 |
(A) 85:9 (B) 64:8
(C) 26:5 (D) 120:11

87. TTEEITHTE FATH & TG ARG, T A TH A48T 35 : 6 FA T AHFGF T |
(A) 85:9 (B) 64:8
(C) 26:5 (D) 120:11

87. 39 AEAT I H1IIH HL TAdH gHI AEATE JH THE AAId B AT 35 : 6 7 |
(A) 85:9 (B) 64:8
(C) 26:5 (D) 120:11

87. Select the number pair in which the two numbers are related in the same
way as 35 : 6.

(A) 85:9 (B) 64:8
(C) 26:5 (D) 120:11

88. I <© *wCAN Yreierl Sl elvjo TN e
(1) TR (2) IR (3) T
(4) 9 (5) feramist (6) AR
(A 1,5,4,2,6,3 (B) 5,1,4,2,6,3
(C) 5,4,1,2,3,6 (D) 1,5,2,4,6,3

88. Ty Srafire MW Yesif Gag welvjfeng Areie :

(1) wx (2) AT (3) &=
4) 3= (5) feramiet (6) <l
(A 1,5,4,2,6,3 (B) 5,1,4,2,6,3
(C) 5,4,1,2, 3,6 (D) 1,5,2,4,6,3
SPACE FOR ROUGH WORK
[E¥E
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88. TTEMTE M ACEHEE | JIFFTH] IR ST BIHEE AT |
(1) =m (2) e
(3) HREAHAE (4) 3@l
(5) TTEA AT (Low Pressure) (6) CIM
(A) 1,5,4,2.6,3 (B) 5,1,4,2,6,3
(C) 5,4,1,2.3,6 (D) 1,5,2, 4,6, 3
88. THHrcRad e 1 dllshen 3R LTI A H ST H1f A0 -
(1) =ree (2) TETd (3) AT
(4) = (5) HATIAE (6) =3
(A 1,5,4,2,6,3 (B) 5,1,4,2,6,3
(C) 5,4,1,2,3,6 (D) 1,5,2,4,6,3
88. Arrange the following words in a logical and meaningful order :
(1) Cloud (2) Rainbow (3) Devastation
(4) Rain (5) Low Pressure (6) Flood
(A) 1,5,4,2.6,3 (B) 5,1,4,2,6,3
(C) 5,4,1,2,3,6 (D) 1,5,2,4,6,3
89. % ‘HONESTY = 5132468 [=rita &= ‘POVERTY = 7192068 fzrita &< =,
(08 G5! (FLU@ ‘HORSE’ 5 #1143 #11f5@ ?
(A) 50124 (B) 51042
(C) 51024 (D) 52014
89. W ‘HONESTY 5132468 f301d @74l = @3 ‘POVERTY’ 7192068 &1a et =,
SIE0E Feaw A0S ‘HORSE’ [ S (3141 AR ?
(A) 50124 (B) 51042
(C) 51024 (D) 52014
89. Jfe HONESTY 1 5132468 =1 fea@l 3 POVERTY @1 7192068 =i
TeaEE S Wg 39RT 2T (code) A1 HORSE @1 AR felisiT = ?
(A) 50124 (B) 51042
(C) 51024 (D) 52014
SPACE FOR ROUGH WORK
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89. 3¢ HONESTY %1 5132468 37K POVERTY %1 7192068 ferg1 S1a1 2, a1 39 &g d
HORSE #1fa@1 a1 2 «
(A) 50124 (B) 51042
(C) 51024 (D) 52014

89. If HONESTY is written as 5132468 and POVERTY 1s as 7192068, then in the
same code, HORSE is written as :
(A) 50124 (B) 51042
(C) 51024 D) 52014

90. 200 . = 100 f¥. T7fa 74 @@9IC! FEE 20 W,/ Ors 3 22 ./ TrFe® @9
TG ST 9ifs FF 0 | A% @IS 72 QT5! TS S Fa, (ST Q4T SH2eh
SRS FEFLE (PN IPRF RS 29 2
A) 212 TS (B) 135 W%
(C) 150 WL D) 120 W

90. 200 RGTE =/l @ 100 G174 725 @@slife g W@ 2o eas 20 HoE
a3 2fe oty 22 X6ia sfers venz | ¥ (G 13 999 993 s vE o OiS
HYCE SN FACE FS I FI9T ?
(A) 21277 B) 135 TS
(C) 150 T D) 120 TS

90. fem =i @wram w1 200 . 311 100 fa. 7o wrte 13 Trefasn s 20 f7./4.
W 22 Ta./3. | Fie wrTE T W feTE @ REal, 39 TEmE 316 f9ER a7 @ &FE ?
(A) 2124 (B) 1354.
(C) 150 4. D) 1204.

90. 200 HeX 3R 100 HieX &1 31 24 A 20 HYHFES N 22 Het/THE Hi gL J FHE
T @1 7 | g g e 2l fean A 9e T 2; 1 32 U GO BT TR A H foha1 a9 T 7
(A) 212 FHs (B) 135 ¥%s
(C) 150 ¥%s (D) 120 5%

SPACE FOR ROUGH WORK
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90. Two trains of 200 m and 100 m long are running parallel at the rate of
20 m/sec. and 22 m/sec. respectively. How much time will they take to cross
each other, if the trains are running along the same direction ?

(A) 212 sec. (B) 135 sec.
(C) 150 sec. (D) 120 sec.

91. FCI 9 [9Sd AR I ] \9% % % W 9 AN 104 T . | fagenR
=5 13ets e Argd s -

(A) 527.f. (B) 487.fw.
(C) 44w D) 40w.f.

91. «FH f@]'\‘;\ﬁﬁ@ qeg S %%% Q37 iy (perimeter) 104 @ DDA | f@]'\,-.;\cw
e e’ 7
(A) 52 TONGE (B) 48T ORGE
(C) 44 TAGRGE (D) 40 TINGE

91. AFH FWMYIYMA AGTIHRA FJITEHAT TEA % % % FW ARffe fammn s
104 .18, | 3 FARETRRIGTAM T o1 AT TR =
(A) 5249fm (B) 484.fu.

(C) 443fa D) 40Ff

91. Q%ﬁﬁﬁﬁwﬁmm%:%% 2 3R 39T 7T 104 A 2 | Frys 1 wes o=t
(A) 5294 (B) 48 =4
(C) 44 3. (D) 40 A9

91. The ratio of the sides of a triangle 1s % %% and its perimeter 1s 104 cm. The
longest arm of the triangle 1s :

(A) 5Zcm (B) 48 cm
(C) 44 cm (D) 40 ecm
SPACE FOR ROUGH WORK
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92. f2RIZ @<« =™ HF6 e Faes, A9 GERe [2R12 BF6 I F9F 20 Ve ST
@ =S fa2e] | (GER @ AR 45 W9 2 [2r13 TeEsiee viEfee | (2)1E TeseE
TR 16 [V SR TENE (@ #1e Farzel | I (2)12 ¢reag BIo g i,
(S0 TENE 3@ 1 3 1 [0 231 2

(A) &R (B) *feram@
(C) *eq™ (D) ¥FTEE

92. feR @I TAMGLEA (movie) BfF6 RFH (booked) FCACZ [ WS <e T=MLA
(trailer) Y& “Ik ©F G5 I Fa@ 20 7“4 | Torad 2m*© 4&Td (trailer) 45
% “[[ CTUA6E (movie) (ACAZe | [2R1 TAm6@Eb 4@ 16 = "I(.?Uﬂfﬁﬁﬁﬁ'} (movie)
§F cfRxfes | aw of a9aea Bfes 9@ (booked) FAZE O AXCEA (@ W

TFGED @ CHRI2e ?

(A) wFE (B) I
(C) df<arF (D) WFREA

92. T =1 9" A fefeha a1 51 9@ trailer @1 A fofwha smamfa 9@ 20 farmr
fegram@mEAF | 931 3 9@YaaE! trailer fegaemma @ 9m 45 4 39@ 913971 | 3
e At AEam ama 9 16 @i fegaam 5@ | Jfe 33 Tserata 9 amyTet
AT, 3 AEYAT FIUTE A T ARG A (EEAAAAN ?

(A) TEFAR (B) R
(C) Taar (D) WTHAER

92. T 7 w= Then =1 femhe 7% o Taasst oort feshe 9% &7 9 20 Tga 18ct St fspamaran a7 |
SR T B % 45 Tea a1 =8 hed q@dl 2 | Then 3afea 9 16 feaa 75c1 fefis g2 e i
e T 3 forem a@1 o1 | o8 = T T Then Tefls 2 o1 3773 393 e 1 fehe
ERIEIN

(A) IHAT (B) fam
(C) Team (D) TTEER
SPACE FOR ROUGH WORK
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92. Priya booked a ticket for a movie whose trailer was released 20 days before
she booked the ticket. She watched the movie 45 days after the trailer was
released. The movie was released 16 day before the day on which Priya
watched the movie. On which day of the week was the movie released if she
booked the ticket on Sunday ?

(A) Fnriday (B) Saturday
(C) Sunday (D) Tuesday
Q. 93 T Q. 95 T3 : SHitEe syl / 3¢ / *=i% ek 4
93. 5:27:9:
(A) 83 (B) 81
(C) 36 (D) 18
Q. 93 to Q. 95 SFEs =¥yt / I / = (Aits @9 A :
93. 5:27:9:
(A) 83 (B) 81
(C) 36 (D) 18
Q.93 ™ Q. 95 fom :
THETE A T ERE VATGIRE | AT
93. 5:27:9:
(A) 83 (B) 81
(C) 36 (D) 18
9 HEA1 93 | 95 T 7 FEAYHEYINEE 14 AT |
93. 5:27:9:
(A) 83 (B) 81
(C) 36 (D) 18

From Q. 93 to Q. 95 : Find the missing numbers/letters/words.
93. 5:27:9:

(A) 83 (B) 81
(C) 36 (D) 18
94. AQRD : BRSE :: LMTJ :
(A) MNRK (B) MNSK
(C) MNUK (D) MMUK
95. Bus : Driver :: Horse :
(A) Saddle (B) Rein
(C) Horseman (D) Stirrup
SPACE FOR ROUGH WORK
[EME
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Q. 96 I *[{I Q. 98 T : fraf#f«re vif<h! faem Fofvint @ faoem wiif2 Sitvms s =1 ot
(0 SV | (5 WBYS G2 [<MFs0! [+ 1 |

96. (A) 2837 (B) 7651
(C) 3925 (D) 9762

Q. 96 — Q. 98 : =TT J7T (FCET W2 (o5 ANGH 2IF! AR =61 Todl Tz | (Fo ¢
(AT S sfo oY 2

96. (A) 2837 (B) 7651
(C) 3925 (D) 9762

Q. 96 ™ Q. 98 fam :
TEAEE 2FE A8 8= (options) THAT 21 AHH §FW @ (Pattern) 31 W& HIAME
I FE AT AL el A 2371 | F SrARAE TRIFATS TaRa T A1 |

96. (A) 2837 (B) 7651
(C) 3925 (D) 9762

e : v 91 96 | 98 : fH=taRgd IR fashea 9 9 oF s 139 Ted 7 99 2 3R g9
TE I & | 998 A A d fahe1 B8 |

96. (A) 2837 (B) 7651
(C) 3925 (D) 9762

From Q. 96 — Q. 98 : Three out of the following four options are alike in a

particular pattern and hence form a group. Find the one which does NOT
belong to the group.

96. (A) 2837 (B) 7651
(C) 3925 (D) 9762
295
907. (a) =222 ® 20
3375 1331
169 289
C) — D) ——
2744 5832
98. (A) T+ (Emission) (B) @we (Pollution)
(C) 79 (Contamination) (D) TeEEeae (Adulteration)
98. (A) fesfue (B) amE
(C) w¥ (D) TeEEFA
SPACE FOR ROUGH WORK
Ok 10}
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98. (A) GGTHA (B) T
(C) TA @A (D) AT T TAEAE
98. (A) IcFSH (B) Fgum
(C) <m (D) faemae
98. (A) Emission (B) Pollution
(C) Contamination (D) Adulteration
99. ere Tae fages Y7 e fae 1 -

99.

(A) 12 (B) 18
(C) 22 (D) 26
T e U@ It fagrera sl C4ite (@ el -

A) 12 (B) 18
(C) 22 (D) 26
99. o HAFTITE AFIH IS € 2
A) 12 (B) 18
(C) 22 (D) 26
SPACE FOR ROUGH WORK
E%E
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99. <173 rTRfa J Ty T HEAn A Hifav

(A) 12 (B) 18
(C) 22 (D) 26

99. Find the number of triangles in the given figure :

A) 12 (B) 18
(C) 22 D) 26

100. % v, |, aftar

T (™

43 (FAPNIT WG 7PAFF SFe e fehiiieg T3 «[1 v @ tore 5 -

N
© o) QO
O

SPACE FOR ROUGH WORK
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100. S g, S, 9T — @3 TigtER Y0a TS SeFpea efetiy s Tab
ool 99

(©) (D) OO
o

100. 9T&T (Classes) BRf AEE YT AHEFCRE | F5(-RGZAT ATE T4 BRAFIT THARE T AT |
e feeddl, dienT, e

© D) OO
O

100. 39 37T 1 T8 HL 1 TSATI 11 % 1= % o941 5] 9a99 91 9 001 2 -
3 feeeft, Hiem1, ofam

©) . ) OO
O

100. Identify the diagram that best represents the relationship among the classes :
New Delhi, Sri Lanka, Asia

- %

SPACE FOR ROUGH WORK
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